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Solving Sequence

Wb Wy Tl gty g8
A knot diagranﬂ 5 9 6 10 4 1 3 3

Ideals for irreducible component#ﬂ)f Xpar

I = (" —u® 4 4+ 3u+ 1)

* 1 irreducible components of dim¢ = 0, with total 17 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.

1


http://www.layer8.co.uk/maths/draw/index.htm#Running-draw
https://github.com/CATsTAILs/LinksPainter

L I = (u'” — u'® — 6u’® + 5u’ + 15u'® — 9u'? — 16u'! + 2u!® —u® +
13u® + 18u” — 12u® — 12u® — 4u* — 2u3 + 6u? + 3u + 1)

(i) Arc colorings

o ()

ag =

ay = 7U6+2U47U2
w? —4u” + 5ub — 3u
—u® +3u” - 3u +u

ul? — 5ut0 + 948 — 448 — 6u* + 5u2 + 1)

u® — 3ut +2u? + 1)

ag =

az = —u'? 4+ 400 — 6ud + 2u8 + 3ut — 2u?
w® —2ud +u
ag = \y” —3u®+2u +u
(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u'® — 24u’® — 4u'? + 56ut + 20u!® — 44u° — 36u® — 40u” +
1208 + 84u® + 36u* — 1203 — 28u? — 36u — 14



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C3,C
1,C3,C4 u17+3u16+..._3u_1
Cg, C10
17 1
C2,C7 T T R TR |
Cs5, Cg, C9 w4 3u+1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C3,C4 y17+23y16++9y_1
Cg, C10
ca, C7 YT 3y 3y -1
Cs, Ce, C9 917_13y16+"'_39_1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1CS)

Cusp shape

u = —0.012292 4 0.9315691

13.9525 + 3.38721

0.08288 — 2.324171

u = —0.012292 — 0.9315691

13.9525 — 3.38721

0.08288 + 2.324171

u = —1.11583

—2.09753

—3.69430

u = —1.164080 + 0.3059291

0.607153 + 1.1953701

—3.40206 — 0.588541

u = —1.164080 — 0.3059291

0.607153 — 1.1953701

—3.40206 + 0.588541

u= 1261810+ 0.0963211

—4.71727 — 2.289971

—12.30509 4 4.710221

u= 1.261810 — 0.0963211

—4.71727 4 2.289971

—12.30509 — 4.710221

u = —0.066401 + 0.7094651

3.89229 4+ 2.504541

0.07700 — 3.859271

u = —0.066401 — 0.7094651

3.89229 — 2.504541

0.07700 + 3.859271

u= 1.262700 4 0.2978201

—0.19933 — 6.122811

—5.66204 + 6.846011

u= 1.262700 — 0.2978201

—0.19933 + 6.122811

—5.66204 — 6.846011

u = —1.282560 + 0.4587801

10.01240 + 1.569271

—3.08060 — 0.650501

u = —1.282560 — 0.4587801

10.01240 — 1.569271

—3.08060 + 0.650501

u = 1.301090 + 0.4502401

9.86681 — 8.317381

—3.35967 + 5.188771

uw= 1301090 — 0.4502401

9.86681 +- 8.317381

—3.35967 — 5.188771

u = —0.242352 + 0.2988951

—0.289621 4 0.9265521

—5.50330 — 7.342041

u = —0.242352 — 0.2988951

—0.289621 — 0.9265521

—5.50330 + 7.342041




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,€3,C

1,€63,¢4 u17+311,16+"'_3u—1

€8, C10

Ca2,Cr w w4 w1

cs5, Cg, Co W=t 3u 1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1,C3,C4 23y 9y — 1
€8, C10
c2,C7 y' T3yl =3y —1
C5,C65 Co y'T =13y - =3y — 1




